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2. K5 VI A RAR SR /NE B E IR S
V2: 0+5=5KM

V3: 0+2=2KM

MFRS L3=2, FFHiE VI—V3

3. k5 VI, V3RS SR/ NERE IR S
V4. 2+7=9

V2: 0+5=5

V6: 2+4=6

kRS L2=5, FFiE VI—V2

4. K5 V1. V2, V3 HHABARFR T i/ NME B E IR S
V5: 5+7=12

V4: 5+2=7

V6: 2+4=6

k55 L6=6, FHiE V3i——V6

5. 3KR5 V1. V2. V3. V6 M ARAR T SN B E AR S
V4:  V6——V4  2+6=8
V3——V4  2+7=9
V2——V4  5+2=7
V6——V5 6+1=7
V5: V2——V5 5+7=12
b5 L5=7, L4=7, I8 v6e——V5, V2——V4

6. K5 V1. V2. V3. V4. V5. V6 HAERIrS s IME
V7:  V5——V7 7+3=10
V6——V7 6+6=12
kRS L7=10, JHHiHE V5——V7
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